

## **REQUEST FOR QUOTATION**

Date: 25 March 2024 RFQ No.: **100-24-02-344** 

Name of Company:	
Address:	
Name of Store/Shop:	
Address:	
TIN:	
PhilGEPS Registration Number:	

The **City Government of Pasig**, through the Bids and Awards Committee (BAC), intends to procure **Supply and Delivery of Various Textbooks and Instructional Materials – Pamantasan ng Lungsod ng Pasig** with an Approved Budget for the Contract (ABC) of <u>Php 65,585.00</u>, in accordance with <u>Section 53.9</u> of the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184. Please quote your best offer for the item in the table below.

The Project shall be awarded as One Project having several items that shall be awarded as one contract. Quotations received exceeding each total Cost per Item and/or the total Approved Budget for the Contract shall be rejected.

					Approved Budget		Price Offer	
ltem No.	Item Description	Brand Name (PLEASE DO NOT LEAVE BLANK)	QTY	UOM	Unit Cost	Total Cost	Unit cost	Total Cost
1	A Second Chance of Happiness, Teresita G. Carey 2024		5	pcs	450.00	2,250.00		
2	Biological Chemistry, Chua, Israel, Luyun 2022		3	pcs	460.00	1,380.00		
3	Children and Adolescent Literature, By Gonzales, Badayon, Bustamante, 2022		3	pcs	325.00	975.00		
4	Education and the Law, By Mel Sta. Maria, 2022		8	pcs	850.00	6,800.00		
5	<b>Exploring Children's Literature to Enhance</b> <b>Literacy in the Elementary Grades</b> , Genevieve R. Conjusta Marievic M. Violeta 2022		3	pcs	410.00	1,230.00		
6	Inclusive Education in Early Childhood Settings, Boholano, Menoria-Navarro, Jamon, Cortes 2024		10	pcs	440.00	4,400.00		
7	Interactive and Innovative Teaching Strategies: A Compendium, Milagros L. Borabo/ Heidi L. Borabo 2024		10	pcs	350.00	3,500.00		
8	LET REV. GENERAL EDUCATION, Corpuz/Espique/Faltado/Cuartel/Garo/ Caramto/Caroy/de los Santos 2023		10	pcs	590.00	5,900.00		



9	LET REV. PROF.ED ASSESSMENT IN LEARNING,	10	pcs	410.00	4,100.00	
ĺ	Brenda B. Corpuz / Imelda E. Cuartel					
10		- 10		600.00	6 000 00	
10	LET REV. PROFFESIONAL EDUCATION, Corpuz/Prieto/Bilbao/Borabo/B. Din/	10	pcs	600.00	6,000.00	
	Rosano/Boholano/Faltado/Olvido					
	2023					
11	LET REV. SPECIALIZATION VALUES EDUCATION,	5	pcs	480.00	2,400.00	
	Dr. Elmer B. De Leon				_,	
	2023					
12	Practical Methods on Construction	2	pcs	2,470.00	4,940.00	
	Management, Virgilio N. Porte					
	2022					 
13	Simplified OJT Methods (On-Job-Training) on	2	pcs	1,950.00	3,900.00	
	Building Construction for Engineers &					
	Architects, Virgilio N. Porte 2022					
14	Sinesosyedad (Panunuri ng Piling Pelikulang	5	pcs	395.00	1,975.00	 
14	Panlipunan), Elmer B. De Leon	5	pes	333.00	1,575.00	
	2023					
15	Speech and Theater Arts, By Blano, Diones,	3	pcs	420.00	1,260.00	
	Cordova, Mananay, 2022					
16	Survey of Afro-Asian Literature, Escalada-	10	pcs	300.00	3,000.00	
	Cordova, Uytico					
	2024					
17	Teaching and Assessment of the Macroskills	3	pcs	370.00	1,110.00	
10	(OBE) Teaching Internship OBE-& PPST- Based,			400.00	1 200 00	
18	Milagros L. Borabo, Heidi Grace Borabo Din	3	pcs	400.00	1,200.00	
	2022					
19	Teaching Multigrade Classes, By Montalbo,	3	pcs	360.00	1,080.00	
	Iradel, Perez, 2022	_			,	
20	Technical Writing 2022, Mananay, Sumalinog	3	pcs	300.00	900.00	
	2022					
21	The Contemporary World 2024, Mananay,	10	pcs	410.00	4,100.00	
	Sanchez, Sumalinog, Argate, Cadosales					
				520.00	1 0 1 0 0 0	
22	The Life and Works of Jose Rizal 2022, Porras, Doctor-Salinas, Apsay, Cunanan, Rillo	2	pcs	520.00	1,040.00	
	2022					
23	The Teaching and Assessment of Literature	3	pcs	365.00	1,095.00	
	Studies, By Bacus, Terogo, Bustos, Dapat, 2022		203	000.00	1,000.00	
24	Trends and Issues in Social Studies, By Arnie G.	3	pcs	350.00	1,050.00	
	Dizon, 2022					
Note	: Other terms and conditions are stipulated in the attached Te	rms T	otal	65 5	85.00	
of Re	ference, if any.		Jiai	03,5	0.00	
DELI	VERY TERM: Within Thirty (30) calendar days upon the re	eceipt of Not	tice to Pr	oceed.		

**DELIVERY TERM:** Within **Thirty (30)** calendar days upon the receipt of Notice to Proceed.

\*Indicate the BRAND NAME or MANUFACTURER NAME and the specific MODEL to be offered or attach a BROCHURE for the offered item; items including but not limited to clothing, vehicle, equipment, devices, electronics, machines, drugs, medicines, medical supplies must be branded or at the very least, manufacturer shall be indicated.

Submit this Quotation (Accomplished and duly signed by the Owner or the respective Authorized Representative indicated in the Secretary's Certificate/Special Power of Attorney) not later than the closing date specified in the Bid Notice Abstract posted in PhilGEPS website along with the following documents:

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

🔦 (02) 8643-1111 \* (02) 8641-1111 loc 1461 \* 🖄 bidsandawards@pasigcity.gov.ph \*

pasigcity.gov.ph

- Mayor's/Business Permit (or a recently expired Mayor's/Business permit together with the official receipt as proof that the prospective bidder has applied for renewal within the period prescribed by the concerned local government unit subject to submission of the Mayor's Permit before the award of contract). The nature of business as stated in the Mayor's/Business Permit should at the very least be similar or related to the project to be bid.
- **PhilGEPS Registration Number**
- Income Tax Return Latest Income or Business Tax Returns filed and paid through the BIR Electronic Filing and Payment System (EFPS).

In accordance with Revenue Regulation No. 3-2005, the above-mentioned tax returns shall refer to the following:

- 1. Latest Income Tax Return (ITR) For participants already with an Annual ITR, latest ITR shall refer to the ITR for the preceding Tax Year be it on a calendar or fiscal year. For new establishments which, therefore, have no annual ITR yet, it shall refer to the most recent quarter's ITR.
- 2. Latest Business Tax Return refers to the Value Added Tax (VAT) or Percentage Tax returns covering the previous six (6) months.
- Accomplished and notarized Omnibus Sworn Statement (Form can be downloaded thru https://www.gppb.gov.ph/downloadable-forms/#tab-61412
- Proof of Authorization: Secretary's Certificate if corporation, or Special Power of Attorney, if individual.

## **ADDITIONAL REQUIREMENTS:**

For Procurement of Drugs and Medicines:

Documents from the Food and Drug Administration (FDA):

- a. Certificate of Product Registration;
- b. Certificate of Good Manufacturing Practice;
- c. License to Operate;
- d. Batch Release Certificate (for vaccines, toxoids and immunoglobulins only) [to be submitted upon delivery]; and
- e. Certificate of Analysis (for anesthesia and antibiotics) [to be submitted upon delivery].

If the Supplier is not the Manufacturer, a certification from the Manufacturer that the supplier is an authorized distributor/dealer of the products/items.

Please submit the accomplished Quotation and required documents on or before the deadline of submission at the Bids and Awards Committee (BAC) through the Procurement Management Office (BAC Secretariat Office), <u>4<sup>th</sup> Floor</u>, Pasig City Hall, San Nicolas, Pasig City.

All documents should be submitted in a sealed brown envelope addressed to the "Bids and Awards Committee, 4<sup>th</sup> Floor, Pasig City Hall", and properly marked with the Project Title as provided herein.

The CITY GOVERNMENT OF PASIG reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

🔍 (02) 8643-1111 \* (02) 8641-1111 loc 1461 \* 🖄 bidsandawards@pasigcity.gov.ph \*

pasigcity.gov.ph

For any clarification, you may contact us at telephone no. (02) 8641-1111 / (02) 8643-1111 loc. 1461 or email address at <a href="mailto:bidsandawards@pasigcity.gov.ph">bidsandawards@pasigcity.gov.ph</a>

## SGD

ATTY. BEA THERESE P. VILLANUEVA Officer in Charge, Procurement Management Office

I hereby certify that I have read and agree to this Request for Quotation, its Terms of Reference, and Bid Bulletin/s, if any. I further certify that the products to be delivered will conform to the specifications stated in the Item Description.

Conforme:

Signature over Printed Name

Position

Duly authorized to sign quotation/offer for and on behalf of \_\_\_\_

(Please indicate Company Name)

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

🗳 (02) 8643-1111 \* (02) 8641-1111 loc 1461 \* 🖄 bidsandawards@pasigcity.gov.ph \*

pasigcity.gov.ph

Page 4 of 4 | RFQ No. 100-24-02-344 | RLD<sub>d</sub>